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Copies of the inside front and back covers of the Griffiths text are provided on the
next page.

(1pt) 1. Suppose a vector field v can be expressed as v = ∇×A.

What then, is the ∇× (A+∇f) equal to? Here, f is any scalar function.

(1pt) 2. Recall that the work done by a conservative force F is path independent. That means that the
value of:

W =

∫ b

a
F · dℓ,

is the the same regardless of the path taken between points a and b. In other words, the work
done depends only on the positions of the end points a and b.

If F is a conservative force, what is ∇× F?
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